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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1
=0 Code X Y z X y A B B a b B id Ad ic Ac Code X Y z X y a* b* Cip a' b hab id Ad ic Ac
@ @ P65 96.86 99.99 112.330.313 0.323 0.0 0.0 0.0 0.968 -0.449 0 P65 96.86 99.99 112.330.313 0.323 0.0 0.0 0.01 0.215 -0.086 0 Q -
Q o 565_5757.03 877 0.02 0444 0554 -1.46 393 419 0801 0.0 110 IO 1468 565_5757.03 877 002 0444 0554 -13.6161.03 6253 0.202 -0.01 102 390 158 kel c
g » 565_75¢ 89.73 91.12 1122 0.306 0.31 146 -3.93 4.19 0.984 -0.492 290 68 30| 565_75c 89.73 91.12 112.2 0.306 0.31 2.67 -6.02 6.59 0.216 -0.088 293 68 30| ‘Q @
<_7§ P60 97.06 99.99 104.570.321 0331 00 00 00 097 -0418 0 P60 97.06 99.99 104.570.321 0331 00 00 0.01 0215 -0.086 0 8 a
QD 565_5757.09 8.84 002 0444 0554 -1.49 369 398 0.801 0.0 112 30 1464 565_5757.09 8.84 0.02 0.444 0.554 -13.7861.28 62.81 0.202 -0.011 102 890 54
[} 565_75c 89.88 91.05 104.440.314 0319 149 -369 398 00987 -0.458 292 454 890 565_75c 89.88 91.05 104.440.314 0319 272 -6.07 6.65 0.216 -0.088 294 454 890
a 97.45 99.99 9598 0.332 034 00 00 00 0974 -0.383 0 P55 97.45 99.99 9598 0.332 034 00 00 001 15 -0.086 0 35
Q I3 565 5757.16 893 002 0444 0554 -1.54 342 3.75 0.801 0.0 114 30 1445 565_5757.16 8.93 002 0.444 0.554 -14.0861.56 63.15 0.201 -0.011 102 S90 45| o=
3 1 555 75c 90.19 90.96 95.86 0.325 0.328 1.54 -3.42 3.75 0.991 -0.421 294 245 890 555 75c 90.19 90.96 95.86 0.325 0.328 2.79 -6.13 6.74 0.216 -0.088 294 245 890| =0
=]
9_)' g P50 98.12 100.0 86.5 0.344 0.351 0.0 0.0 0.0 0.981 -0.346 0 P50 98.12 100.0 86.5 0.344 D 351 0.0 0.0 0.01 0.215 -0.086 0 (<D o
o738 565_5757.23 9.02 0.02 0444 0554 -161 3.11 351 0801 0.0 117 30 4704 565 5757.23 9.02 002 0.444 0554 -145961.86 6356 0.201 -0.011 103 390 570 N
=1 § 565_75¢c 90.78 90.87 86.39 0.338 0.339 161 -3.11 351 0999 -0.38 297 5¥0c 0| 565_75¢ 90.78 90.87 86.39 0.338 0 339 291 -6.19 6.84 0.216 -0.088 295 5I0c 0| c S
;Q P45 99.2 100.0 76.07 0.36 0.363 0.0 00 00 0.992 -0.304 0 P45 99.2 100.0 76.07 0.36 0.363 0.0 00 0.01 0 215 -0.086 0 ,9_’, N
-5' 565_5757.32 9.12 002 0444 0554 -1.73 2.76 3.26 0.802 0.0 122 IO 870 565_5757.32 9.12 0.02 0.444 0554 -15.3962.2 64.07 -0.012 103 X0 S0y a o
5 S’ 565_75c 91.78 90.77 75.97 0.355 0.351 173 -2.76 3.26 1.011 -0.334 302 5I0c 30| 565_75c 91.78 90.77 75.97 0.355 0.351 3.08 -6.26 6.98 D 216 -0.088 296 5I0c 30| =1 8
a_ P40 100.9399.99 6468 0.379 0.376 00 0.0 0.0 1009 -0.258 O P40 100.9399.99 6468 0.379 0376 00 0.0 001 0215 -0.086 0 Q=
o E‘ 565_5757.41 9.23 0.02 0.444 0554 -1.91 2.38 3.05 0802 0.0 128 IO 8704 565_5757.41 9.23 0.02 0.444 0.554 -16.6262.54 64.71 0.199 -0.013 104 S90 ST0 =2y
6' 565_75c 93.42 90.66 64.6 0.375 0.364 191 -2.38 3.05 1.03 -0.285 308 5¥Oc FHO| 565_75c 93.42 90.66 64.6 0.375 0.364 3.34 -6.34 7.16 0.216 -0.088 297 ST¥0c BF0| o %
- P35 103.66 100.0 52.43 0.404 0.39 0.0 0.0 0.0 1.036 -0.209 0 P35 103.66 100.0 52.43 0.404 0.39 0.0 0.0 0.0: 0.215 -0.086 0O 3 <
E 565_5757.49 933 0.02 0444 0553 -2.18 1.94 292 0802 0.0 138 N0 4704 565 575749 9.33 0.02 0444 0553 -18.5162.87 65. 54 0.197 -0.014 106 890 ST0 D S
=1 565_75¢c 96.06 90.56 52.35 0.401 0.378 2.18 -1.94 292 106 -0.231 318 5¥0c 0| 565_75c 96.06 90.56 52.35 0.401 0.378 3.72 -6.4 7.41 0.217 -0.089 300 S5¥0c 0| g B
&
Q =3 P30 108.04100.0 39.55 0.436 0403 00 00 00 108 -0.158 0 P30 108.04100.0 39.55 0.436 0403 00 00 0.01 0215 -0.086 0 E m
= Q 565 _5757.56 9.41 002 0444 0553 -2.6 148 2.99 0.803 0.0 150 370 370/ 565 5757.56 9.41 0.02 0.444 0553 -21.3763.11 66.63 0.195 -0.015 108 890 5T0f o <
=1 (@] 565_75c 100.37 90.48 39.48 0.435 0392 26 -148 299 1109 -0.174 330 5I0c 30| 565_75¢ 100.37 90.48 39.48 0.435 0.392 4.26 -6.45 7.73 0.217 -0.089 303 5I0c 390| 3 [{e]
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= 8 Code X Y Z x 'y A B fga b Mg i A i Ac Code X Y Z x y Cap @ b hap ig A i Ac S o
= < P65 96.86 99.99 112.330.313 0.323 0.0 0.0 0.0 0968 -0.449 0 P65 96.86 99.99 112.330.313 0.323 00 00 0.01 0215 -0.086 0 4
e} © 518 5230.36 3.63 0.37 0083 0.832 -3.15 1.48 3.48 0.099 -0.04 154 ZP1 Bzt 518 5230.36 3.63 0.37 0.083 0.832 -82.2532.96 88.61 0.1 -0.038 158 221 EP1Y 3
= I 518_23c 96.4 96.26 111.850.316 0.316 3.15 -148 3.48 1001 -0.464 334 521c 21| 518 23c 96.4 96.26 111.850.316 0.316 551 -2.23 594 0.217 -0.087 337 521c 221 T
oY
'g—| P60 97.06 99.99 104570321 0331 00 0.0 00 097 -04180 P60 97.06 99.99 104.570.321 0.331 0.0 0.215 -0.086 0 g vl
o= 518 5230.35 3.56 036 0.083 0.832 -3.1 134 337 0099 -0.04 156 =21 821 518 5230.35 3.56 036 0.083 0.832 -81.46 32 63 87 75 01 -0.039 158 Z21 oAt [}
= 518_23c 96.61 96.33 104.1 0.325 0.324 3.1 -1.34 337 1.002 -0.432 336 52lc 2821 518 _23c 96.61 96.33 104.1 0.325 0.324 5.4 -2.17 5.82 0.217 -0.087 338 52lc B21) 9
g% P55 97.45 99.99 95.98 0.332 0.34 0.0 0.0 0.0 0.974 -0.383 0 P55 97.45 99.99 95.98 0.332 0.215 -0. he]
P 518 5230.34 347 0.35 0083 0832 -3.03 1.19 326 0099 -0.04 158 =21 821 518_523 0.34 0.35 0.083 0 832 750 5 32 23 56 72 01 -004 158 ZP1 821 =
8 518_23c 97.01 96.42 95.53 0.335 0.333 3.03 -1.19 326 1006 -0.396 338 521c 21 518_23c 97.01 96.42 95.53 0.335 0.333 526 -2.09 567 0.217 -0.087 338 521c 21 ;_{
> P50 98.12 1000 86.5 0.344 0351 00 0.0 0.0 0981 -0.346 0 P50 98.12 100.0 86.5 0.344 0351 0.0 0.0 001 0215 -0.086 0 o
Q 518 5230.33 3.36 034 0083 0832 -2.96 1.02 313 0.099 -0.04 160 =21 B:7at 518 5230.33 3.36 0.34 0.083 0.832 -79.32 31 72 8543 0.1 -0.042 158 =1 EP1Y S [
_I,‘ 518_23c 97.68 96.53 86.07 0.348 0.344 296 -1.02 3.13 1011 -0.356 340 521c 21| 518_23c 97.68 96.53 86.07 0.348 0.344 5.1 2.0 548 0217 -0.087 338 SRlc 2P S @
m P45 99.2 100.0 76.07 036 0363 00 00 0.0 0992 -0.304 0 P45 99.2 100.0 76.07 0.36 0.363 0.0 0.0 0.01 0.215 -0.086 0 53
o 518 5230.32 3.23 0.32 0.083 0.832 -2.88 085 3.0 0099 -0.04 163 220 -820f 518 5230.32 3.23 0.32 0.083 0.832 -77.8431.07 83.81 0.1 -0.044 158 Z20 5RO D
3 518_23c 98.78 96.66 75.66 0.364 0.356 2.88 -0.85 3.0 1.021 -0.313 343 520c B20| 515 23c 98.78 96.66 75.66 0.364 0.356 4.9 -1.89 526 0.217 -0.087 338 520c B20| 8
9 P40 100.9399.99 64.68 0.379 0.376 0.0 0.0 1.009 -0.258 0 P40 100.9399.99 64.68 0.379 0.376 0.0 0.0 0.01 0.215 -0.086 0 =
Q
7_¢. 518 5230.3 306 031 0083 0.832 -2.78 0.66 286 0.099 -0.04 166 220 8204 518 52303 306 0.31 0083 0.832 -75.9 30.22 817 0.099 -0.046 158 220 -5R0f -
518_23c 100.5296.83 64.31 0.384 037 278 -0.66 2.86 1.038 -0.265 346 520c 20| 518_23c 100.5296.83 64.31 0.384 0.37 4.65 -1.74 497 0217 -0.086 339 520c 220 o
P35 103.66 100.0 52.43 0404 039 00 00 00 1036 -0.209 0 P35 103.66 100.0 52.43 0404 039 00 00 001 0215 -0.086 O Q
518 5230.28 2.85 0.28 0.083 0.832 -2.66 048 271 0.1 -0.04 169 200 820 518 5230.28 2.85 0.28 0.083 0.832 -73.2729.07 78.83 0.098 -0.049 158 820 520¢ %
518_23c 103.2797.04 52,09 0.409 0.384 266 -0.48 271 1.064 -0.214 349 520c 20| 518 _23c 103.2797.04 52.09 0.409 0.384 434 -155 46 0.217 -0.086 340 520c B20| 1
P30 108.04 100.0 39.55 0.436 0.403 00 00 1.08 -0.158 0 P30 108.04 100.0 39.55 0.436 0.403 0.0 00 001 0215 -0.086 0O 3
518_5230.25 2.56 0.26 0.083 0.832 103 253 01 -004 173 2520 -820, 518_5230.25 256 0.26 0.083 0.832 -69.5127.44 74.73 0.097 -0.054 158 820 520
518_23c 107.67 97.33 39.24 0.44 0.398 2. 51 -0.3 253 1106 -0.161 353 520c B20| 518_23c 107.6797.33 39.24 0.44 0.398 3.92 -1.28 413 0.217 -0.086 341 520c B20|
‘CEY90-7N YAB, GM, Pxx ‘CEY91-7N Lab*, GM, Pxx
TUB-test chart CEY9; YB and GM data; 8 illuminants Pxx; 2°-CIE observer
CIEXYZ, YABCabtandLabC*a’b’h data; wavelengthk1, A2, Aq andA¢, wavelength test 5
i v o) T -




